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3 304 ] 122 87" 0= 4| 1= 6% 0 5%"(0'- 33 1= 37| - 5T 110" | 44| 16| 42.388 | 0.988| 119.799| 13- 2" |6 | [2'-10" 2| 8| 1.827|102.932| 1.808 | T77.103|A
3 404 | 12 [ 2- 8% 0= 4| 1= 8% 0 5T (0% 3 1= 3% - 5Tl 1I-10" | 44| 24| 45.212 | 1.087| 123.701| 13- 2" |6 | I2-10" 20 10| 1.932| 109.835| 1.901 | 77.103|C
4 304 ] 123 5% 0- 64| 1= 9% |0 8%"|0- 8% 14- 4 | 111l 15 1M | 56| 16| 52,408 | 1.294| 131.043| 16'- 2" |6 | I5-10" 2| 8| 2.104|120.956 | 2.095 | 95.127 |B
4 404 ] 123 5% 0= 64| I'- 930 8%" (0" 8L 14- 4" | =11Vl 15 1M | 56| 24| 55.232 | 1.392| 139.395| 16'- 2" |6 | I5-10" 2| 10| 2.209| 127.859 | 2.188 | 95.127|D
4 504 | 123 5% 0- 64" I'- 93" 0 8%"[0'- S5 14= 4" | =11Vl 15 1" | 56| 32| 58.056 | 1.490| 147.747| 16'- 2" |6 | I5-10" 2| 12| 2.315| 134.761 | 2.280 | 95.127 |F
4 6| 4 | 12"[3- 5% 0- 64| I'- 93,0 8%"|0'- 8% 14= 4" | I-11l/"| 15 1" | 56| 40| 60.880 | 1.588| 167.678| 16'- 2" |6 | I5-10" 2| 14| 2.420| 141.664 | 2.373 | 95.127 |H
5 304 | 4 2 o 8l 2 Ve jo- et o T T A 2 4yl 18- 5 | 68| 16| 62.428 | 1718 161.356| 19'- 2" |6 | 18-10" 2| 8| 2.313|138.980 | 2.313 | 113.151 |B
5 404 | a2 o sl 2 Ve fo- 11t 0 T T A |2 4yl 18- 5" | 68| 24| 65.252 | 1.816| 169.830| 19'- 2" |6 | I8-10" 2| 10| 2.418| 145.883 | 2.406 | 113.151 |D
5 504 | 10" 4- 2 0= 8y 2= Yor [0 11" |0 T 17= 4r | 2= 4l 18- 4" | 68| 32| 68.07c | 1.886| 187.582| 19'- 2" |6 | I8'-10" 2| 12| 2.532| 152.185 | 2.508 | I13.151 |F
5 6|4 | 10" [4- 2 0= 8l 2 Vo Jo- g |0 TV 1T A | 2 4yl 18- 4" | 68| 40| 70.900 | 1.984| 196.202| 19- 2" |6 | 18-10" 2| 14| 2.637| 159.688 | 2.600| I13.151 |H
5 T4 | o104 2 0= 8lg 2= Vor Jo- g |00 TV 1= A |2 4yl 18- 4" | 68| 48| 73.724 | 2.081| 222.221| 19- 2" |6 | 18-10" 2| 16| 2.742| 166.591 | 2.693 | 113.151 |J
6 404 9| 4-107"| 0'-10Y"[ 2= 3V | 1= 20 [0 95"\ 20 4 | 2'- 9¥| 21- 8" | 80| 24| 75.272 | 2.258| 216.698| 22'- 2' | 6 | 21-10" 2| 10| 2.607| 163.907 | 2.605 | 131.175|D
6 504 | 10" [4-10%" 0-10Yq"| 2= 34 | 1= 2 |0 915 20 4" | 2'- 93| 21'- 8" | 80| 32| 78.096 | 2.356| 230.598| 22- 2" |6 | 21'-10" 2| 12| 2.712|170.809| 2.698 | 131.175 |F
6 6| 4 | 10" [4-107%" 0-10Yq"| 2= 34" 1= 2" {0'- 915 20 4" | 2'- 93| 21'- 8" | 80| 40| 80.920 | 2.454| 239.218| 22'- 2" |6 | 21'-10" 20 14] 2817 177.712/| 2.791 | 131.175 |H
6 T14 | 10" [4-107%" 0-10Yq"| 2= 34" 1= 2" |0'- 914520 4" | 2'- 93| 21'- 8" | 80| 48| 83.744 | 2.551| 261.170| 22'- 2" |6 | 21'-10" 2| 16| 2.922| 184.615| 2.883 | 131.175 | J
6 g4 9u 411" | 0-10" |2 3Y5 | - 1% [0 94" 20%- 4 | 2'-10" | 21'- 7" | 80| 56| 86.568 | 2.616| 279.989| 22'- 2' | 6 | 21'-10" 2| 18| 3.039) 191,517 | 2.987 | 131,175 | L
7 404 95 T 1= Vg (2 el 1 AT 011V 230 4| 3 2T 24110 | 92| 24| 85.292 | 2.799| 287.472| 25'- 2" |6 | 24-10" 2| 10| 2.769| 181.931 | 2.777 | 149.199 |E

7 6|4 9 50 Tt 1= Vg (2 el 1 aY 011V 230 4| 3 2T 24110 | 92| 40| 90.940 | 2.995| 305.066| 25'- 2' | 6 | 24'-10" 2| 14| 2.979| 195.736 | 2.962 | 149.199
7 8|4 9 5= T 1=V L2 et 1= 4Ty |0 115" 23 4" 3'- 2Tl 24-11" | 92| 56| 96.588 | 3.189| 355.950| 25'- 2" |6 | 24-10" 2 18] 3.189| 209.541 | 3.148 | 149.199 | M
7110 |4 9|58t | 1=V (2 el - aYy 011y 23 sl 3 2T 25'- 0" | 92| T72]102.236 | 3.422| 401.643| 25 2' | 6 | 24-10" 2| 22| 3.361|223.347 | 3.294 | 149.199 | Q
8 414 8" 6= 4" | 1= 2l 2 BT - TR [1- 1V 26 3| 3 8Ve'| 28~ 2" | 104] 24| 95.312 | 3.415| 349.243| 28 2' | 6 | 27-10" 2| 10| 2.875| 199.955 | 2.893 | 167.223 |E
8 6|4 8| 6= 4" | 1= 2V 2= B 1= 1% |- 114 260 304" 3 8Yg'| 28~ 2" | 104| 40|100.960 | 3.612| 368.047| 28'- 2" |6 | 27-10" 2| 14| 3.085|213.760| 3.079 | 167.223 ||
8 8|4 8" 6= 3% - 21" 2'- 8% 1 8" |- 13|26 3%"| 3'- TU'| 28'- 3" |104| 56|106.608 | 3.847| 415.170| 2B 2' | 6 | 27-10" 2| IB| 3.280| 227.565 | 3.248 | 167.223 |M
8| 10 |4 8" 6= 43" 1= 21" 2- 8% 1= 8" [I- 13| 26 4T"| 3'- 17| 28'- 4" | 104| T2|112.256 | 4.080| 476.275| 28'- 2" |6 | 27-10" 2| 22| 3.451| 241371 3.394 | 167.223 | Q
9 415 9T St | 1= A% 211 =10V, (1= 3 29 4t | 4 1Y) 31- 5 |16 | 241105332 | 4102 455.854| 31- 2" | 6 | 30-10" 2| 10| 2.944| 217.979 | 2.972 | 185.247 |E

9 6|5 9 | T St | 1= A% 21 -0V (1= 3 29 4 | 4= 1Y) 31- 5" |16 | 40| 110,980 | 4.298| 474.517] 31- 2" | 6 | 30-10" 2| 14| 3.155| 231,784 | 3.158 | 185.247
9 8|5 9T St | 1= AN 2T =10t 1= 3 290 4 | A= V'l 31- 5" | 116] 56| 116.628 | 4.492| 525.747] 31'- 2" |6 | 30-10" 2| 18| 3.365| 245.589 | 3.343 | 185.247 |M
91 10 |5 9T 1 - A3 0 -0V, - 3 29 5t | 4 1Yy 3= 6" | HIe | T2]122.276 | 4.680| 591.064] 31'- 2" |6 | 30-10" 2| 22| 3.553| 259.395| 3.506 | 185.247 | Q
9] 12 |5 9| T 2% 1= 4% 2 11 110V (1= 3 29 8t | 4 1Yy 31- 9" | 116 | 88127.924 | 5.066| 662.948| 31'- 2" |6 | 30-10" 2| 26| 3.598| 273.200| 3.525 | 185.247 |U
10 416 9| T 9l 1= ¥y 3 2V 2 TR - 53 320 4 | 4= 6l 34- 9" | 128 24115352 | 4.915| 541.037| 34- 2" |6 | 33-10" 2| 10| 2.975| 236.003| 3.013 | 203.271 |F
10 6|6 9| 7 9| 1= 6| 3 2t 2= 1R - 5Yy 320 4 | 4 64l 34- 9" | 128 ] 40|121.000 | 5.112]| 559.700| 34'- 2" |6 | 33-10" 2| 14| 3.185| 249.808 | 3.198 | 203.271 | J
10 8|6 9| 7 9| 1= 6| 3= 2t 2= 1R - 5y 320 4 | 4 64l 34- 9" | 128 | 56|126.648 | 5.305| 612.208| 34'- 2" |6 | 33-10" 2| 18| 3.395| 263.613| 3.384 | 203.271 |N
10| 10|56 9| 1= 9% 1= 6|3 2V 2 TR (1= 5 320 5" | 4= 6l 34-10" | 128 | 72]132.296 | 5.536| 722.125| 34'- 2" | 6 | 33-10" 2| 22| 3.564|277.419| 3.527 | 203.271 |R
10| 12 |6 9l T |- T 32 |2 2l |- et | 32- 8" | 4- 6 | 35- I" |128| 88|137.944 | 5.935| 737.468| 34 2' | 6 | 33-10" 2| 26| 3.603| 291.224 | 3.540 | 203.271 |V
12 6|6 8" | 9'- 2%"| 1'-10Y4"| 3'- B%"|2- 69" |I- 94 38'- 4Vg"| 5'- 5"l 41'- 3" | 152 | 40|141.040 | 6.750| 714.428| 40'- 2* | 6 | 39-10" 2| 14 3.184| 285.856 | 3.217 | 239.319|J
12 8|6 8" | 9'- 2%"| 1'-10Y4"| 3'- B%"|2- 6%,  |I- 9y 38'- 4Vg"| 5'- 5"l 41'- 3" |152| 56|146.688 | 6.943| 768.206| 40'- 2" |6 | 39-10" 2| 18] 3.394]299.661 | 3.402 | 239.319 [N
21 10|86 8" 9= 3" | 110" 3 8 2 TV 1= 9V, 38 5" 5'- 4Tk'| 41'- 4" | 152| T72|152.336 | 7.240| 837.453| 40'- 2" |6 | 39-10" 2| 22| 3.535|313.467| 3.518{239.319 |R
2| 126 8" 9= 4, 1-1015" 31 8" 2= TV 1= 9V, 38 8l/5"| 5'- 476"\ 41'- 7" |152| 88|157.984 | 7.590| 895.574| 40'- 2" |6 | 39'-10" 2| 26| 3.590| 327.272 | 3.547 | 239.319 |V
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